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Checkpoint 350 | 564 | 496 | 446 | 375 | 227 | 549 | 632 | 423 | 502 |34 | 4D | 267 | 136 | 204 | 549 Yellowknife
Dawson Creek | 753 | 147 | 185 | 324 | 306 | 501 | 132 | B3 | 347 | 47 | 667 | 590 | 283 | 413 | 477 1023 | Peace River
Enterprise 706 | 380 | 293 | 242 | 171 | 24 | 345 | 449 | 219 | 524 | 19 | 244 | 470 | 340 08 | 915 | Manning
Fort Liard 485 | 560 | 508 | 582 | 511 | 364 | 546 | 496 | 559 | 366 | 530 | 176 | 130 224 | 332 | 833 | LaCréte
Fort Nelson 617 | 430 | 457 | 606 | 569 | 494 | 415 | 365 | 629 | 236 | 661 | 307 114 | 196 | 304 | 719 | High Level
Fort Simpson 391 | 604 | 537 | 486 | 415 | 268 | 589 | 672 | 463 | 42 | 434 N3 | 427 | 509 | 617 | 482 Hay River
Fort Smith 466 | 550 | 483 | 432 | 361 | 167 | 535 | 639 | 409 | 715 593 | 280 | 308 | B4 | 24 | 999 | Grimshaw
Fort St. John 800 | 194 | 232 | 371 | 350 | 548 | 180 | 130 | 394 167 | 760 | 447 | 475 | 251 | 191 | 1166 | Grande Prairie
Fort Vermilion 416 | 229 | 162 23 48 242 | 14 | 118 512 | 345 30 | 77 ar 261 | 369 | 796 Fort Vermilion
Grande Prairie 724 | 119 | 156 | 295 | 278 | 472 | 104 634 | 209 | 289 | 882 | 569 | 597 | 373 | 313 | 1288 | Fort St. John
Grimshaw 6 | 15 | 52 | 19 | 174 | 368 1150 | 658 |1028 | 861 | 268 | 581 | 695 | 777 | 865 | 750 | Fort Smith
Hay River 299 | 383 [ 36 | W5 | 194 G99 | 873 | 745 | 1082 | 948 431 | 668 | 782 | 864 | 972 | 629 Fort Simpson
High Level w7 | 188 |12 | 7 494 | 1063 | 379 | 1013 | 588 | 668 | 795 | 948 | 976 | 752 | 692 | 933 | Fort Nelson
La Créte 517 | 206 | 139 210 | 284 | 853 | 589 | 899 | 798 | 878 | 585 | 822 | 935 | 962 | 902 | 783 | Fort Liard
Manning 568 | 67 547 | 757 | 393 | 306 | 844 | 352 | T2 | 65 38 | 275 | 383 | 47 | 579 | 444 | Enterprise
Peace River 636 768 | 665 | 455 | 949 | 1074 | 76 | 558 | 133 | 213 | @06 | 433 | 521 | 297 | 237 | 1212 | Dawson Creek
Yellowknife 884 | 328 | 219 | 429 | 65 | 634 | 808 | 680 | 1017 | 883 | 366 | 603 | 717 | 799 | 907 | 564 | Checkpoint
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